[image: image1.jpg]A #26 TEAE = AEFALBE

¥

<

5

B K #E:

iy BEEE -

REH ARG
B B24 K24 5)
(1) 4 96 MR & 5% 64 TR - £ HNR

RUFRFFHS 2

DFFHREUEAEEE ()

OEFTT TS SX(mr LS AnIES S N

DA REI TGS S0
64+96=5

Q) £EHMEL 63 AT I BHHEER 22
EEHBERIBHE I
[OFF-T A 2AmESS SIRIEE S I
@ietBERA(AEE  [oiE) -
QEEHRERIBHEIE?

63+42=15(% 1)

K

sr1s@1be ‘

3) H—BEF Mo RAE 22029 RASS 25 -

B RARN S D7
DEATOEACTERE - [ -
QEFBHAR(DAEE  [JetD)
DRABHERREGS IR

220+55=4

—&ﬁitﬁiit—&ﬁﬂnaiﬁ
DRanRRAGELE

2

A - (B2 50 %40 47)

() A E% 80 7 » S XH 160 7t » 454 240 7t «
Db x sk & B th #4457

AT EEFR( hE S
WEFA( hx )EsR -
@b xR NEH( 2 ME-
@35t R X 8 B 7
AP EEFR( bx )
LRER( I ek
@b R XH( 15 )E .

2) — B &G A 420 FH AR —ERHKS @
HA TI40 FF AR -
DR#m @A ERFRHNG( 17 -
QR BERFEREFLEE ] TE—

BREF@MAEN 17 )
QEHFEHAERKFRHN( |

M"E =

m;&miﬁ&*i IRE





[image: image2.jpg](AL AR
3| etmitA % o (AR g 0 24 9)

(O £ 88 & IR LIRS SR ES ]
@06 15 ARG EEERAME S 0 Lo
bR R 12 2t 1 AR A A R A

%t Ak 7.2 2 9F 0 KM 20 2t
Q) EEXASREK B0 4K SR & ey 4R
HHirE % 03545 AR XY 45K & S rdk

*2

860% (1+0.35)=1161

% 11161 4
Gy e kit G A EBRAR
sman 226 BowinaLbEIHES

5 BewAE2 AT abmEEl A
() ~E— B R RABO0 yAL)MARE S
say 70% » Sl RM M ABITAKYALS
12 A 75— R IR A A AR ) A
AEIA?
BEEEARE x A
1709 =309+ A H ARk & 2354 309
XX (70% —3096)=12 » xX 0.4=12
x=12+04=30
30 70%=21 + 30% 30%=9
% ABOARE2NA  RRAEHARE IA

5) h— ARG Ak T3k BHT 75 BA
£ AUFEAARE 2
MRS ALFEBAH ¢ A
o (1 )=75

o
x=75+7=120

%M E

(6) S At R [ 4 S-Fo 2 S Sl @ 70 4620 22 F7 0 4

Fo R ERFEH 1245 0 S FP RS

#RESIRR?

ik A E R x 2T

% (1+41.2)=4620

XX 22=4620

x=4620+2.2=2100

2100% (1,2—1)=420

AP EREA TR LAk AR mE -
et 2 A R P AR R B
B o T SARE B AT A SR B
() A BEERAE 1600 2 LEANTERE
WA ST 20% 0 LEABEREES ST
1600% (1—209)=1280

501280 %
@) LA ERIEE 280 7o BEA LA LEAR
1159 » SMEAMERIEF L EMA SR
280% (1159 —1)=42

s:a2n





PAGE  

